W 350

>

(D]

O 300

—i

S

— 250

)

€

(D]

o 200
150

100

)
o

.
7

0
4215— . xéindf = 43.8/52 3
_ = e o ° ° )
S M T oo snentee s
-4 = . 1 L ! =
8 9 11 12 13 1

turnOn = 8.53 £ 0.12

PbPb L_=464 pb™ V'S = 5.02 TeV
_I I I I | I I I I | I I I I | I I I I | I I I I | I I I ]
- R pi¥< 30 GeVic CMS 1
— |y|< 2.4 Preliminary
: p > 4 GeV/C Ny ;g = 590 + 33 :
Y (1S)

- Cent: 50-100% .
— Rys = 0.149 + 0.038 ]
B Rgs = 0.026 +0.035 ]
:_ decay = 6.19 £ 0.77 _:
B Myus) = 9.4546 £0.0058 |
= Ngrga = 4218 £ 77

m,, (GeVi/c?)



	Contents
	Page 1


